TALEEMI DUNYA

Test Syllabus: Unit # 1 (Matrices

and determinants)
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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct, fill that circle
in front of that Question with Marker or Pen ink. Cutting or filling two or more circles will result in zero mark in that

question.8
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The idea of matrices is given by:
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Khawarzmi Cayley
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For which value of x matrix 5 is singular. Lo @lld b sy 5 S Ged (SX 4
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4 D -4 B -
(D) 3 (C) () 3 (A)

The inverse of identity matrix is:
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not possible (D)
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©) Identity matrix ()B Null matrix (A)
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If then x is equal to:

= An X sie S| 6

-9 (D) 6 © -6 (;3 9 (A)
o b o i 1)
If X+ = then X=........... p, CR— snX + = B
0 -1 0 1 0 -1 0 1
2 2 b 20 c 0 2 B 2 2 A
0 2 (D) 0 2 © ) 9 (B) ’ 0 (A)
The order of [1] is: e S[1] ] -8
2% 1 | D) | 1x2 © | 1x1 | B) | 2%x2 (A)

2. Answer the following Question:

2xT=14) : g5 bl ga paida S Y g B3 g 32

>i) | Define matrix.
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2 3 2 3 - (ii)
2 -1 2 -1
(i) | Find product. | 1 1 1 1 S aslre o Jals
30 30
0 -2 0 -2 -
1 3 1 3] (iif)
(iii) | Find the multiplicative inverse: | » 4 9 4 [0S pstae (e sSaa 2 e
I 2 1 2]
1 2 3 1 -1 1 1 2 3] 1 -1 1] (iv)
(iv) If A=|2 3 1,B=[2 -2 2 |the verify A=2 3 1|B=(2 -2 2| X
|1 -1 0 3 3 I -1 0 3 1 3]
that 2A + 2B =2 ( A+B) 2A +2B =2 ( A+B)
_1 1 . N\t N 1 1_ ¢ (V)
v) |If B= , the verify (B')' =B (B =B-»S3nai 5i s B= R
12 0 2 0]
1 2 1 2 (vi)
(vi) | Find the transpose of the matrix. C=|2 -1 C=12 —1|-0Spstaealld )l 55188
3 0 30
2 3 01 2 2 2 3 01 2 2] _ | (vii)
o | A= ,B = C= then | 5 s A= ,B= C= X
(vii) -1 0 31 -1 0 -1 0 31 -1 0
prove. oS cud
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Note: Attempt the question in detail.

(4+4= 8) - =i @l s> (uadl 1S J) g Jpd g 2 119

Q:3 (a) Solve the system of linear equation by using

o 53 g2 S Jemid S i San € o8 () 3 el

Matrix Inversion Method. 4x S da S Ui S U s il
4x+y=9,3x—y=-5 +y=9,3x-y=-5
(b) Solve with the help of Cramer’s role. 2x 2y =4 -5Xx -2y - Sds w0 (SHE S e S(Q)

2x 2y=4 : -5x-2y=-10

=-10
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